R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, TX-4213

Endura

P RODUZCTS, |1

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details (Ultimate Flip Lever)
3 Astragal details (Ultimate Multi-point)
4 Astragal details (Ultimate Humicane)
5 Door panel details (flush glazing)
6 Door panel details (lip lite insert glazing)
7 Horizontal cross sections
8 Vertical cross sections
9 Frame anchoring

73.94" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

PRESSURES & GENERAL NOTES

=
O}
@
o
3
<
% =
2 <
= L
L iy
<
5 1S
Q.
=3
2 &=
o
o
o
wn
>
][

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NOJ| DATE

2
1

REVISIONS

oate: 8,/09,/12

SCALE:  N.T.S.

DWG. BY: JK

XX | LIP LITEINSERT | INSWING +40.0 -45.0 +35.0 -35.0 +40.0 -40.0
XX | LIPLITEINSERT | OUTSWING +45.0 -45.0 +35.0 -35.0 +40.0 -40.0
XX  |FLUSH GLAZED | INSWING +40.0 -40.0 +40.0 | -40.0 +30.0 | -35.0
XX | FLUSH GLAZED | OUTSWING +40.0 -40.0 +40.0 -40.0 +30.0 -30.0

CHK. BY: LFS

DRAWING NO.:
TX—4213

SHeer 1 oF 9

© za12 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ 8NIaling "M 2102 (@)

ZS8LL—d # NOLVALSIOZN 40 3LVOL4ILNID SNOISIAZY
SYIINIONA TYNOISSIH0Md 40 auvod Svxal @mmﬁmb&ﬂ«%.&@ﬁ&i Ag 31vd [ON| 9_
D Ty— . S TS ONILYINOILYY d3aav| +1/L0/1 | L Ny 0|x 2 ™
S6SEE M4 O9UIPA OEZ X0 ‘O'd \Sﬁ&. IBNISSY 90 T9vd [S47[39n1dv0 Nid TvovdlSY M3N dav|si/so/s] z | (5| =], & | 6
*ONI ‘SLNVLINSNOO ONIaTINg m < S | 2_
NP EEEES
SZLHOLF “3'd SVXAL Y4NAN3 MEIIMIE &
‘I'd PIWYDS °4 uopui :Ag peJdpdeld sjuswnooQq 110N00¥d M m W w m M
WOLLOg .
~

2.25" A’J ———
][]

1.75" —— |=—

26.0"
35.5" LATCH

41.0" DEADBOLT

33.75"

_ W8L°1

48.0"

520"

60.0"
63.0"
1.82"
0.063" ——| |=—
<
\JL S
Astragal Section

76.0"

W99°C

93.75"

HARDWARE LOCATIONS

ANCHOR SCREW LOCATIONS

|~—1.75"
7 5"

|
| I =

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

dOL

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

PFH WOOD SCREWS

(2)#8 X 1-1/2"

S

(2)#6-32 X 5/8" MACHINE SCREWS

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

Aluminum Body

Ja

N e

N a— e w e— e} | S

N

27 'BMpST-ZTZh-X 1 \WuanD\sBuimeg\TT9 - [.L\sul 4o 1daq sexa [\ININVINYId eInpuz\sjuaiid\y

Upper Bolt Sleeve - Aluminum




‘ON| SLNVLINSNOZJ aNiaing *m*'y Loz (@)

SNOISINTY
ZS8LL—d # NOLLVHLSIOZN 40 3LVOI4ILNIO (INIOd—1LINW ILYALLTIN) =Tva ToN
SHAINIONS WNOISS340Rd 0 GEVOS Swal SV13Q vovHLSY m»um.w TS ONUVINJILYY @3Aav| #1/70/1 | | m 2] 2 = 97
LB6L6°6S9°C LB "ON ®uoyd : — | o~ _.nw
SBSEE ~14 OSUIDA OSZ Xo8 ‘0°d \SV@ ATBN3SSY 80 L8vd | S4T] 3uNLdVO Nid TWOVELSY MIN dav| 61/60/5 | 2 | | g 3
*ONI ‘SINVLINSNOD ONIaTINg = e m L 3_
Lo . = [
£ZLYOL# "3'd Svxal V4NAN3 m m g |y w u
‘I'd IPIWYDS °4 uopuik] :Ag peJpdeld sjuswnosoq 110NA0¥d slal|ldlacla »
WOLLOg e
« ~
| |
\% m L
< «
= -
1§ 1
5l
in el
: RN
2 59
2 in
™ A
< T S & | 8/l _
1 Q (=) "
H = ] s
o =
i O
. S | ﬂ 3
o z
> . O
S 2 » Y mu
N 8 5 =
. wy
= 3 <
F T =)
o
= e |
7 o0
11
v
= N w
22 2 S9T
g < ©)
Q o
e o
= =
b oz L
Q <
i z
& o
-3 O oz
w <
> T
<
= w
o © =
i = oz
Ll
= Q (a4 C
\*r R £ O 172
[ N 1) L
G ( o ) Z
.m\ (0] (@) =
O > Q
i o 7 ) <
: o) = =~ £ = s>
: g 2 o F o
. = | | S &6 & >
T 2« >
8=z &
_— 5 O 2
dOl = ¥ 3 =
O T H* ()
2 E O
< W
w m_lu ~
= %< o
L a —
& = g 3
= O % e o]
oN
—0 m - .
- m W S e -
> = w N VAN [
= T e -~ i —
- - W ) <
~ e S =t A} = ol
Na nM m Y \ // G
/[ © 0 <C
8 2%
5 2 =m0 £ &
N W / 3] m <C
$ o e £
7 B o € £ b
e (S o =] =z
e — =< _ < =
. iy A 2 = o O
I = 2 > o
ar— ] = e} o ]
£\ —F - — P 2 5
2 £ 3 3 2
E o2 _ - 5 =
< £ 9 K 3w
: o o o0 — —
0 0 2= £ <t
o = oD S
o 5 = g =
5 5 8" £ 5
= © S < D
o g
Q >
Q.
5 /N N
\!Tlaw,,,l r— O e e - ) \

Z'€ BMPST-ZTZH-X 1 \WuaLIND\sBUIMRIQ\TTY - [AL\Su] 4O 3daq sexa |\ ININVINYId eINPUI\SIUBID\Y



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 4.2

uj
o]
58 oy
AU S8 BT
RS a5 Zud
PUNCH OUT X - - §§ Bea 22
€ Stm 99
=B : : —— — - = 3 gsi %E
. ° ] ° ‘-g,. D Lans %SE E._
= = LGB0 a\ OWN - E 8
i o 0x2 %
275 . ’ ’ ~—2.50" 8 Z3, 6.
" 8 8 8 " 5 9 . c o
875 3.63 & 502 Eg
" " & [ E§ 5
10.75 - —~——10.50" ——| s § o2
- 18758 ————— 18500 ~ : X §§
3 F
26.75“ 26.50" §
. ANCHOR SCREW LOCATIONS 3
8] S
= o
> a2
— Ex
u" T | | < LéJQ:
= O E@ o <] O | [ — o g O
= =) ] ;(J
) | ) R ST
< 55 . 35.5 2 %éz
< 8'-0" ALUMINUM ASTRAGAL ASSEMBLY - <l <=5
By Endura Products = o ~
S =
oz <
BOLT RETAINERS x =
B i
1943 Jy - i ALUMINUM ASTRAGAL .
[| b | SLIDE BOLT ROD &
= 4 B 2|3
? o o I
22| 6
SLIDE BOLT ROD VIEW A-A SIE| 2
MATL: Steel Aluminum Astragal Assembly 23 [
o (n'el
DEADBOLT STRIKE #8 X 3/4" PFH WS N[>
S PLATE 2l
2 38
o
N | I #8 X 3" PFH WS o+
b

1.78" *l—’

ULTIMATE HURRICANE ASTRAGAL

1— LATCH STRIKE PLATE

BOLT RETAINER

LATCH AND DEADBOLT DETAIL

MATL: 9-3/4" Aluminum

—

NO,| DATE

2

DATE: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4213

SHEET 4 oF 9

© 2008 R.W. BUILDING CONSULTANTS INC.



ui
% Qg
0.78 INTERIOR 12" (PVC) ™ ™ E5 2 U8
W Au O E g -
: T A
cg ] ;- :('*
X = e .% 82 53
| L T 384 4
r\_/ \_r\ ¥ /- 20 © EE
STILE CAP 1/ 5 8% g
(PVC) 0 T
EXTERIOR Vi 3 28, by
. . o . £
STEEL REINFORCEMENT 2 248 EE
WOOD STILE 0.094" THICK FOAM CORE —_ | . S 89
POLYURETHANE t
‘ | P i
1"\ HORIZONTAL CROSS SECTION : go
5/ g
2
e
QN
35.75" MAX. g |y o
PANEL WIDTH S |z 22
o] 2l o
EXTERIOR ol
26.25" MAX . INIESRR EXTERIOR 2 &2
D.L.O. WIDTH @ § o 8
(]
5 1/2" GLASS | Y7, % %
oE ——  5/8"NOMINAL GLASS THK. i/ Tl
INTERIOR \@ ] i
W
i — o
R 1/8" TEMPERED GLASS \ 5
<
o X S ARSPACE 0.090" FIBERGLASS =
O = & SKIN — 7 o
2% %0 1 ' [~ 1/8 TEMPERED GLASS =l |2
:m 0= HERE
< F =T 7 5 < )
=20 ©9 SILICONE GLAZING o 53 2
i Z = EXTERIOR COMPOUND // Nl
E A /4 2<
GLAZING DETAIL // & 2|3
GlI N § = ol
Flush Gl /£ ~
vsn g BOTTOM RALL | ;I o 2=
(PVC) N ——— ) s
— N
0N~
SRS
‘ o
b NI
PLASTPRO DATE: 8,/09/12
Flushglazed SCALE:  N.T.S.
(Fiberglass) DWG. BY: JK
/ 2"\ VERTICAL CROSS SECTION o o LFS
5 DRAWING NO.:
TX—4213
SHEET _ 5 oF _9

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 5.2

© 2012 R.W. BUILDING CONSULTANTS INC.



0.7" 3.6" TOP RAIL N NS 8
r (COMP.) S N|Ex @ W8
04" —| |=— 04" —— |~ i . sB  ZC
| oy nu Om o
> INTERIOR 4 * o Sus co Zo. Bl
—Lr U T B A a > 5 3 !! e s L] LT 2l * : ;:(\3;: c 'dg 21=!=
PIRED B 2 SR : 3. E G 33 %303 55
< LA Xz ! R G 57 H:8 aE
U SN AN T g S - TR ’ R
h c a9 '4'4' "-‘4:. g v b 7. B = &'3 %06 g

ol [N’ ® ot g 2ee ] et RERIFA ‘ = & 8%y EQ
. > ['4
EXTERIOR A 3 285 5
CAP (PVC) L R 8 %.‘Eg A
HINGE STILE (LVL) LATCHLE [ CAP (PVC) SR " § 8¢
. 2] L

L2 2 5 -
S S o E
. > % @% go

m HORIZONTAL CROSS SECTION 8

&/

)
n=Z
=N
<C
b

35.75" MAX. < Sy
PANEL WIDTH S ]
= Q<=
.. INTERIOR W SR
21" MAX . > EXTERIOR 2l ol
D.L.O. WIDTH ” i o S
@ #6 X 1-1/2" PH SMS 2 °l =2
S %
GLASS BITE 1/2" = =
wn
INTERIOR 2120
—1/2" NOMINAL GLASS THK. "
5
. / | 1/8 TEMPERED GLASS | 3
_ #~— AR SPACE B e
O = X FOAM CORE s Z|5
S x5 R s 1/8' TEMPERED GLASS (POLYUREFHAI\JE)\\‘\‘_"" W2 Slel 2
¥ = ¥ 3 ST SlEl |12
< : 3 . B
=g &0 \&/ STEEL SPACER BT =S 2
©Z - Se 4 _ 2]1S
9 4 EXTERIOR QSO SEALANT T R NI=
o~ ‘. : ; " a’ (] <
LOW TACK SEALANT FIBERGLASS SKIN a c|a
(0.075" MIN. THK.)\ SRR - 88
GI GLAZING DETAIL S — ol
Lip Lite Insert Glazing v CET <] w
< 4’ o nN=
i g NNE
> BOTTOM RAIL/‘jT H_ ~|-[S
] e I z
LASTPR SOMP) N ' oatE. 8,/09,/12
P 0 SCALE: N.T.S.
Insert Glazed ——— K
fiberglass . BY:
(floerglass) /2 "\ VERTICAL CROSS SECTION ey
6 DRAWING NO.:
TX—4213
SHEET _6 oF _9

R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 6.2

© 2012 R.W. BUILDING CONSULTANTS INC.



R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 7.2

1/4' MAX. 0.15"
SHIM SPACE e CSINE
EXT. SHEATHING (TYP.)
2X FRAMING e

(G>=0.42) \

,— JAM

#10 X 2.5" PFH WOOD SCREW
—

B
ENDURA WEATHERSTRIP

(QEBD 650)
INTERIOR

N

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

=

\

/"1 "\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

EXTERIOR

#8 X 1" PFH SMS

4" HINGE

f

/
a

/

WEATHERSTRIP

(3N ANEN
NOZNOALY

ULTIMATE FLI

~

,.:3:":0"_\"‘:33*—1‘2_--

AT e MY
C S

‘//‘ /{"

| ™ DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

\ LATCH: KWIKSET SIGNATURE SERIES

(991)

CORNER PADS (TYP.)

P LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

\\

N

-

-

#8 X 3" PFH WS
#8 X 1"PFH WS

/"2 \ HORIZONTAL CROSS SECTION

\7/

ui
aq
£ )
*E° 0 G
= o
I
nu Omn o7
.2 Z Z
W uf,‘; 1]
c e %
o gOQ 3z
2 <22 o0
$ 58 aE
2 Jg@e @
25 QE
Z0wm
s gr® 93
@ ON=< o
() 4
o 93Z 1
e Fog Of
c
a =g6 2
¢ Rok %k
o o o8
E o
[3)
o}
fat
%)
=
28
<< ISQ
o 210
) [@ 1%
S &0
& S
IR
.o O
}_.
(@]
2
(=]
o
@
a
L=
i o)

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NO| DATE

2
1

REVISIONS

DATE: 8,/09/12

scae: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4213

SHEET / oF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 8.2

— 2X FRAMING
~—
il > (G>=0.42)
1 AT~ EXTERIOR I INTERIOR
EXT. SHEATHING 54 / DRYWALL DOOR PANEL \I\
\' 1 L ENDURA DOOR SWEEP \
, o 5 . DBK-ZAC
) A ENDURATHRESHOLD | )
—_— , Tl W (Z-SERIES INSWING ARTICULATING BN
: Kl | SILL w/ PIN CAPTURE) =T )
SHIMSPACE . #IACL4565 (shown) ’
SHE
i d

DOOR PANEL \

\— HEAD

-

ENDURA WEATHERSTRIP

(QEBD/PE 650)

EXTERIOR

W INTERIOR

/"1 "\ VERTICAL CROSS SECTION

W Outswing shown - inswing

also approved

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
W Inswing configuration

INTERIOR

1

INTERIOR o 0p pANEL EXTERIOR EXTERIOR /L INTERIOR EXTERIOR i
ENDURA WEATHERSTRIP ‘\\\ \A\
(QEBD/PE 650) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \
(Z-SERIES OUTSWING) (DBK-R) (DBK-AC)
ZOB4565FN (shown) ENDURA THRESHOLD %\ ENDURA THRESHOLD NN
(Z-SERIES INSWING ADJUSTABLE] (Z-SERIES INSWING ARTICULATING) ”*@_‘T@
, IAI4565FN (shown) ZACA565FN (shown) ,ﬁ
S - __5-6lp
N TN \wc v
N N 20K
N N

S

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4' ELCO OR
ITW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

\y Outswing shown

T

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW

1/4' X 2-3/4" ELCO OR
[TW CONCRETE SCREW

/~ 4\ VERTICAL CROSS SECTION

\y Inswing configuration

W Inswing configuration

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

w0

=

o

=

(@]

L)

(9p]

Ny 0

S %)

o o

= '

] o

<

O

.. =

g &
2

o >
o
ot
o

0
S
]

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NO,| DATE

of—

REVISIONS

oATE: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4213

SHEET 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



= g 2X framing (by others) o «
o5 < e 0
Son 8, Ed
$6% ) g & Astragal Strike Plate £* B Z?
< 9 k 2] ~ (TYP) @ Head Jamb & Wy Y.w O
(mvp) ,( & 5, et Ry
| ~1l o | TR
T]_— SEEHINGE AR ] P (o] = X 5F 558 oE
T g DETAIL 1 I \- —l T Y % o0 g
o¥
" #10X 2.5" PFH DETALL 1 -, X hat<T i & S8 P
2 (T%S%DHSEC,:ATDEW oE g #10 X 2.5" PFH WS = B % 85 by
. o c
- & 502 B
, AND JAMBS) DETAIL 1 £ 3ot gk
. ‘ 1 o Y
P B \ _ _ & o
B EEE\ k - #8X 2-1/2" PFH WS : SO
s [ o :
':5_ ° = b 4 n (. =
3 #8X1 PFsté:. 11 ST #8 X 3/4' PFH WS
EE;‘ SEE HINGE | | ; ~— 4" X 4" HINGE i
DETAIL 2 W =
= 2
— =] HINGE DETAIL 1 =S 51 ©
Q ] =
> o <
, | Yol
5 #8 X 2-1/2" PFH WS vl <
EE?/ * f DETAIL 2, 3 OR 4 ] - ; - < &
- ] o | Q o
. \ ! ¢ l . 4» | 3 .
i #EXTPRHWS <2 | 11 = #8X 3/4' PFH WS g &
% gt #10 X 2.5 PFH WOOD SCREW J | 4'X 4"HINGE R
( e (f)YP ) - 1/4' X 2-3/4' ELCO OR W =
' — (1) ITW CONCRETE SCREW &
HINGE JAMB ¢ (TYP @SILL) HINGE DETAIL 2 5
—_— <
O
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’;{XCHOR’NG z %
CONCRETE (MIN. 3000 PSl) ~ol 2
WOOD (G >=0.42) 3IE |
=3 |2
*NOTE: This anchor required for D.P. > 40 PSF. Z) § @
=3
pd [a]
CONCRETE ANCHOR NOTES: Q '§
. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW <<
edge distance to mortar joinfs. COMPONENT (UNDER CAP) 1/4" X 2-3/4"ELCO OR s
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ITW CONCRETE SCREW BN
maintain the min. edge distance to mortar joints, additional concrete anchors " NN
. aadiion ; 1/2" DIA. HOLE (IN CAP) NS
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE i
. Concrete anchor table: \ — ~-12
MIN. CLEARANCE | MIN. CLEARANCE|  _ 3 = =8 < & L a2 A _ ASTRAGALPIN  [oae: 8,/09/12
] SS b = CAPTURE scAle:  N.T.S.
ANCH COMPONENT DWG. BY: JK
Imw
1 . " = \ L . . LFS
tapcon® | 1/4 1-3/4 2-1/2 3 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 e
ELCO N " i “ Outswing Inswing Inswing Inswing TX—4213
uLTRACoN®| 1/4 1-3/4 1 3
SHEET _9 oF _9

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 611\Drawings\Current\TX-4212-15.dwg, 9.2

@ 2012 R.W. BUILDING CONSULTANTS INC.



